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Question 1

Consider an industry consisting of n > 2 identical firms, each with a constant unit cost of
production equal to ¢ > 0. The product is homogeneous, and demand is given by the inverse
demand function P(Q) = a — Q, where Q is total quantity supplied and a > c.

(a) Suppose that the firms compete in quantities. Find the equilibrium quantity offered by
each firm.

(b) Suppose instead that the firms compete in prices. Find the equilibrium price offered by
each firm.

(c) Suppose one of the firms in (b) makes an innovation that reduces its unit cost of
production to ¢, where 0 < ¢ < c. Find a condition for this innovation to be non-drastic.

(d) Explain why the value of the innovation for the innovating firm in (c) is higher than if
the firm had been a monopolist.

Question 2

(a) What is the external effect of a merger? Why does it make sense to concentrate on the
external effect when assessing the welfare consequences of a merger?

(b) What is meant by the coordinated effects of a merger?

(c) Many jurisdictions apply the consumer welfare standard when assessing mergers.
Explain what it is and discuss its merits.

Question 3

Discuss whether, in the equilibrium of a market with horizontal product differentiation, too
many or too few product variants are offered, compared to the social optimum.




